-

i g R SRR

/M<#&A ,Q’VMKZ V%;d/ & /dz/%
® Oppg 2

P =7
el v3k  Delzaet % 0TS
h
Co=2 "5 <, =0os5A

. 2£ I
VV o Z_)? T X = D
AN Bppn 4 IS
TTrY——
‘P 2)
.
i
¢ 57: 03: ,; Cs=QIm” , Co=0B) k2>
7\: 1273)_( C(X)t):' O, 3w . )(:9&”‘"
Clqt)-C .
Z c“"*mt(?rsp)  ankr 4105
€T Co
5""}‘)'(—') )= B3-0i
&
X
im0

& —‘D.'("Z%’JZ , D = Bosap :E? )*[/ﬁ./o‘”
£ =Y timer

—_— —

e




b S LT el e s e T L
RS RO o o RS s R R 258 2

B Rt I'&’”‘Lﬁ"ﬁ‘;:"ﬂ_‘ Ser

Ip L)

%ﬁMfonfr%w/ﬁ«} e on I‘aﬂ‘:(;an o
F Gy Vil e

-9

D((fwc) 15k = 2,2 1 " ~

e 7 SR —— v .

Z’ 10 5 = / rwre
D( T5eC)

%«Vg 4"93 Vaéaﬂfdﬂ'#w&oﬁ :

%\/&//Iir' ;/VA‘ZF /'bé “:‘r’\’(
G4z B a2 A~ 3~
//4 e—BBJ ZA\E____\ >//48/3@ o5,

Lo becStittaz i Crors

Aporrer p= tensti i PEES T
Sii lm b s B )L,/ L #2

B

””fwﬁ e¥ & eorecoll  relimy,




Dp- sy
‘ < g =10 e, T =Go="C
Co =0 lwtr , Clord=00l w2 X0

D (500 °C> = /o‘l2 "’"Z/{

R

=t i) = 7




